UNIT - IV
s — IV

8. Describe the syntax, use and purpose of five built-in
functions used in MS-Excel with examples.
TACH-THE H 9w g9 R swie B Rieww, augh
AR V9T F I Heq T F

9. What is spreadsheet ? Describe application and

advéntages of spreadsheet.

dredfie 71 ¥ ? Sresfie 3 oy ok @ @ aoh

91605-8400-(P-4)(Q-9)(22) (4)
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BASICS OF COMPUTER-II

Paper : 2.06

Time : Three Hours | [ Maximum Marks : 50

Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.

7l & GUY @7 & ge qhErf I8 gAked a7 o & aTE 7
o7 T weT- Fer & qfwr 3 v g wag 7 @ A
R 78 g4

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each Unit.

7 3 g At @ oW AT 9T g 1 e R TaE
THE | QF U H 99T Fi

1. (a) What is the difference between digital and analog
computer ?

ffrest o GamitT Fgex & @ ofaw & ?

91605-8400-(P-4)(Q-9)(22) R.. T 0.



(b) Whal is operating system ?
e freew = ®

(c) What is Recycle Bin ?
Remgerer ey qar & ?

(d) What is cell ?
a4 F e 7

(e) What is Macro ?

et T B 7

UNIT = I
s - |

What is Digital Computer ? Explain various type of

digital computer.

feforem Fex 1 ® ? fafi s @ Rftew sgex @
RIS

Ny
Explain the application of computer in the fields of
Marketing and Management.

RO X weed 3 83 # FUet & o B are
i)

91605-8400-(P-4)(Q-9)(22) {23

UNIT -1l
g — 1l

4. What do you mean by Software ? Explain different

types of software and their role.

HiTeday ¥ Y R qHH & 7 Rl g 3 gfedgy ok
T IR A AR

. (a) Differentiate between Multi-Processing and Multi-

Programming,.
Ael-SIaRT Sl Aol & dfE ofav #W
(b) Differentiate between Compiler and Interpreter.

FReN 3T et 3 dF Jfav Fif

UNIT -l

gHE —

. What is windows explorer ? What are the features and

facilities available in it ? Explain.

g ey w@ R 7 e F-an gRen v Rdand
Iy & 7 HHHARU

. What is a control panel ? What are the different

options available in it ? Explain any two options.

Fgi U9 1 € ? 3R B-9 RS Ry Suwer ¥ 7
o=l & fasedl %t s i)

91605-8400-(P-4)(Q-9)(22) (3) PrEEo.




UNIT - IV

T — IV O NG, catsonisuimipmivacn

8. Critically examine the liquidity preference theory of

rate of interest determination. 16 61 1 52

& ﬂﬁﬁﬂh"l P o EE Rrer w1 s B. Com. (Pass Course) 2nd Semester

b RIS | " !

w. e. f. Academic Session 2014-15

9. Discuss various methods of break even analysis alon

oty R Mgl % & Onwards (Current Scheme)

TGRS e AR AR Ry / Examination — July, 2022

e #1

BUSINESS ECONOMICS - i
Paper: 2.03
Time : Three Hours | [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they have

been supplied the correct and complete question paper. No complaint in

this regard, will be entertained after examination.

gt & g 37 @ e whanl 7F gheT 7T & 5 TR o oF

&l qer-vE Fem & ghEr & 3y g g9 4 @ @ R 7@
) g

Note: Attempt five questions in all, selecting one question

from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

TAF §HE ¥ @F O g0 §Y, B9 99 9 B 9uC
M ww d@w 1 gfeE R wR oo B o
9 &

61152-8200-(P-4)(Q-9)(22) (4) 61152-8200-(P-4)(Q-9)(22) L



1. Explain the following in brief : o2x8=16

Prefead & @89 7 o X

(a) Two features of perfect competition.
oot s 1 @ Pl

(b) Discriminating monopoly.
ferdereTeh T

(c) Selling cost.
CERESING]

(d) Kinked demand curve.
fogfer AT 5

(e) Marginal revenue productivity.
dr g Skl

() Quasi Rent.
g I

(g) Can rate of interest be zero ?
a1 &S B T L 8wl & 7

(h) Elements of pure profit.

& @H 3 q@
UNIT - |
T - |
_ What is meant by perfect competition ? How is price
determined in this market ? 16

Tﬁﬁﬁﬁmﬁawamﬁ%?gﬂﬂﬂ?ﬁﬁﬁﬂ#ﬁﬁ%ﬁ
e @ ?

61152-8200-(P-4)(Q-9)(22) (2)

_ How are price and output determined under

monopoly ? Is monopoly price always higher than

competitive price ? 16

UNIT -1l

FCo |

_ What are the features of monopolistic competition &

Explain the short run equilibrium of a monopolistic
competitive firm. 16
e SRR @ w Bl ¥ ? T
o & @ SR FRE A e B

_ Discuss Curnot's model of oligopoly. 16

SR  FA B dew # = F
UNIT — i}

g —

. Critically explain marginal productivity theory of

factor pricing. 16

qee dEa pEier & He S e @
S aUH H

7. Explain the rent price relationship. 16
- T ® a0 B
61152-8200-(P-4)(Q-9)(22) (3) P.T.O.



ey

UNIT - Iy
R~ IV

8. Explain main features of Industrial policy of India.
Discuss its role in economic development of India. 8, 8

W%ﬁ@ﬁﬁﬁ%#ﬂ@mﬁﬂﬂﬁmﬁlw
%mﬁwﬁmaﬁmﬁhwaﬁraahﬁ?l

9. Critically examine the monetary policy of RBI. 16
et Red S o A Her B oo e aﬁ‘aj

61154-7000-(P-4)(Q-9)(22) (4)

KEfiNG. ........ 0
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BUSINESS ENVIRONMENT - I
Paper: 2.05
Time : Three Hours | [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.
w#%mﬁ#mmwﬁﬁaﬁwﬁﬁwﬁﬂw
el g7 07 Fr & VT & Sy g G ¥ N R T8
g T

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

TOH 3HE QA 9% 991 T BU, FW g7 gt B I
WU IH HE 1 whed ¥ e w3 s
T #)

1. Write short notes : 2x8=16

it feaolt fafgu -

(i) External Environment

B8 AR

61154-7000-(P-4)(Q-9)(22) P.T.O.



(ii) ETOP Analysis
o R
(iti) GDP
SEd
(iv) Industrial Unrest
e w18
(v) Deflation
5ol ferpifcr )
(vi) White Money
e 89

(vii) Prime Landing Rate
& FT
(viii) VAT
T T T
UNIT -1

s - |

. What do you mean by Business Environment ? Explain

the importance of study of Business Environment. 4, 7

WW@WMW%?WW
%m%qﬁzﬁw@raﬁﬁm

_ What is SWOT analysis ? Discuss various components

and uses of SWOT analysis. 4,6,6
@ Ry ¥ F aveE ® 7 wre fawr & R
qedt U Zad SEATE @ v HU

61154-7000-(P-4)(Q-9)(22) (2)

UNIT =1
zoe — I

4. How is national income estimated in India ? What are

the difficulties in the estimation of national income in
India ? 8,8

wﬁ@m%ﬁq@mﬁ% ? qE B TE T
ﬁmﬂﬂﬂ-ﬁmﬁaﬁ%?

&./ Discuss the achievements & failures of

industrialisation in India during the period of
planning. 16

mmﬂmﬂmmwﬁmﬁﬂﬁw
STEEEa @ e H

UNIT - Il

e —

. "Black money is hindrance in the smooth and rapid

economic development.” Comment. 16

“wmwﬁw%maﬁﬁmﬂww%r’w

‘,Wﬂﬁﬁﬂwiﬁi‘l

. What are the causes of industrial sickness in India ?

Explain the remedial measures adopted in India to
overcome the Industrial sickness. 6, 10

Wﬁ@ﬁﬁﬁswm%ww%?wﬁaﬁﬁﬁm
Wﬂg{mﬁ%mmmwrﬁa%mﬁﬁm

61154-7000-(P-4)(Q-9)(22) (3) P.T.O.



UNIT - IV
gHs - IV

8. What do you mean by Management Change ? Discuss
the factors responsible for organizational change.

599 9REdT & oY 1 @9E § 7 SeEE uRadT @
FatErEl e B e Hifmy

9. Why do people resist change ? How will you
overcome their resistance ?

kT oRacH #1 B = w7 o g@ Rk @ SR
[ HA 7

61153-7700-(P-4)(Q-9)(22) (4)

BEBNO. ....oiitiriinriitin s
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BUSINESS MANAGEMENT - i

Paper: 2.04
Time : Three Hours | [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
this regard, will be entertained after examination.

vl & T 3 @ g qharl 98 ghked #v & B g of @
el yvr g B & whar @ ayuer gw a7 B R Bavga 78
gl

Note : Attempt five questions in all, selecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

TOF B A 0 U T g, I 9F 9 B o
Ao = dem 1 gfed @ e oae 3 siw
9 2

1. (a) What is Job specification ?
1 fafmear #7787

61153-7700~(P-4)(Q-9)(22) P.T.O.



(b) What do you mean by recruitment ?
et A o Fw o ¥ ?

(c) What is Apprenticeship Training ?
ottt s @y @ ?

(d) Write any two features of motivation. |
R H HE & g faRe

(e) Meaning of Communication.
AR H F A 8?7

(f) What are the areas of controlling ?
fraaor & &= 7 & 7

(g) Write any two qualities of a leader.
TF A0 B B & T fRaw

(h) What is management of change ?
aRerds 1 gE R R ?

UNIT - |

T - |

- Define staffing. Explain its nature and scope.

P #d i ot A g s o A @
fademr #ifergy

61153-7700-(P-4)(Q-9)(22) {2)

3. Explain the procedure for selection of employees.

FHAME B 99 # SfFar @ e Hfm
UNIT -1l

e -l

4. Define motivation. Discuss the features and process of

motivation in the context of a business organisation.

ARET B oy AR oF RS ST 3 e d
'go Rl wd i 4 e At

5. What are the essential qualities of a good leader ?

TF HB WM D AT P DI E ?
UNIT -l
s —

6. "Communication is as necessary to business as the

blood stream to a person." Discuss.

“TF FAEE | wNERT @ Io & e © R B o
i 3 Rie @ g B

7. What do you understand by the term controlling ?

Indicate the process of controlling.

ﬁﬁmmﬁmwwﬁ%?ﬁﬁwmaﬂml

61153-7700-(P-4)(Q-9)(22) (3) P 0.
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B. Com. (Pass Course) 2nd Semester
w.e.f. Academic Session 2014-15
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Examination — July, 2022

BUSINESS MATHEMATICS - Il
Paper : 2.02

Time : Three Hours | [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they

have been supplied the correct and complete question paper. No

complaint in this regard, will be entertained after examination.

gt 3 gt 39 @ vee wherd 7€ ghie #T @ Br 37 g7

o @ g-gg Rer & ofer @ gv §9 &4 7 W A

B 7€ g @

Note: Attempt five questions in all, selecting one
question from each Unit. Question No. 1 is

compulsory. All questions carry equal marks.

% HE } o U B A HQ g, T G 0
3 3¢ Afm o g 1 gRed B &9 A B 0%
I B

61151-9250-(P-7)(Q-9)(22) P.T.0.



Find the wvalues of ¥z w i

X "Jk-y f32
2x+z3y-w L47_

X 31—y"‘32' 3 . =
2x+23y—w. & 17y X, Y z w A+
|
2.4 Dx. 4
(b) H( | ( then find the value of x.
5 1| |6 «x
2 4| |2x 4
lﬂa,s 1' ’ﬁrﬁmmﬂmg

(c)

(d)

()

(8)

If y = (ax* + b)?, then find gz
X

Ry = (ax® + b), @ %’-maﬂmu

2 2
Firid B e 8 8
dx a: b2

qﬁa b2 —1 ar dy mﬂﬂﬁ‘ﬂm

Find the compound interest on Rs. 400 for 2 years
at 10% per annum.

400 598 W =GR AN 10% 9 af & a7 @ 2 ad
% o s #iftm

Define Sinking fund.

gwa i & ofenfie it

Find the fourth proportional to 3, 12 and 15.
3,12 I 15 & e g e Hfory

61151-9250-(P-7)(Q-9)(22) (2}

(h)

(@)

(b)

A scooter is sold for Rs. 18,400 and fetches a profit
of 15%. Find the cost price of the scooter. 2 x 8 =16

wwlsmomﬂ%mw%aﬁ?w%wm
AT HTC &1 TREX F AN G T B

UNIT - |
51 — |

. show that A* - 6A% + 74 + 21 = ().

=
o S
I
N O -
o N o
W= N

)

, g 5 AP—6A2 + 7A + 21 =0

S

Il
S =
o N o

e

2 3 5
If A=|0 9 8|, express A as sum of a
Y 5 )
symmetric matrix and a skew symmetric matrix. 8

2.9 .8
i A=|0 9 8|, w5 wim Aew ok uF Ry

At b
ot Ay 3 A 3 w0 ¥ A 9 w5y

61151-9250-(P-7)(Q-9)(22) (3) 258



3. (a) Prove that:

a a2 b+c

b b* c+a|=(b-c)c-a)a—b) (@a+b+c).
4%

s #ifvm :

a a’> b+c
b b* c+a =(b—c)c—a)a-b)(a+b+c)
¢ ¢ awd

£ €

(b) Solve the following equation by Cramer's rule: 8

P Pram g Pl wier 2 o ¢ -
X+y+z=7
x+2y+32=16
X+3y+4z=22

UNIT - Il

g - 1l

4. Differentiate the following w.r.t. x : 4x4="1

x % ane Frefofea & sfaw ¢
(@ (x*+x) (5¢° + 67)

s |
¥ +1

(b)

(¢) € (x+logx)
(d) (log x)*

61151-9250-(P-7)(Q-9)(22) (4)

5.

(a) Find the points of local maxima and local minima
of the function f(x) = x* — 627 + 9x + 15. 8

Also find the local maximum and local minimum
values. j

T fx) = x* - 6x% + 9x + 15 3 T Ay ol
e P @ Rig s B

mmm@mﬁmﬂwmﬁrmﬂﬁm

(b) Find two positive numbers whose sum is 16 and
the sum of whose cubes is minimum. 8

2 GIF WA ST PRI R 9 16 § ek R
o T A g ¥

UNIT - Il

e — i

(a) Rahul deposited Rs. 20,000 in a bank for 2 years at
14% per annum compounded quarterly. Find the
interest that he will get at the time of ma turity. 8

TEH T T 9% & 20,000 59% 2 99 3 Ry 14% st
# W Q me wwgs @ 3 Rie s R aftgeear
% @9 38 fBeR a9 3w B

(b) The population of a town is 1,40,000. If it increases
by 5 % annually, what will be the population of
the town after 5 years. 8

TF M H SEE 1,40,000 B AR 399 5% # Al
w q g AR R, A5 ot am we # e w7
et ?

61151-9250-(P-7)(Q-9)(22) (5) P.T: 0.




T

(a)

(b)

(a)

(b)

Find the amount of an ordinary annuity of Rs. 600
payable at the end of each quarter for 3 years at
8% p.a. compounded quarterly. 8

oo R  oft & 3 a6t & Rw 8% gfvad R
TG AW H A & G 600 T uF AR qi
F R I i

A man borrowed Rs. 20,000 at 6% compound
interest, promising to repay Rs. 5,000 at the end *

each of the first 4 years to reduce the principal arid
the interest and to pay the balance at the end of
the 5th year. Find the amount of his final

payment. 8
T R T 20,000 T 6% Febghs &7 T R R,
9 4 T F § 5% B o F 5000 T TR & Ay
A GG T AW W B FE 0 A o 5 ad
F o & M SHH AW I T B

UNIT -1V

IR~ IV
Ifxzﬂ, findthevalueoffj—a+x+b. ?
a+b x-a x-b y

A 2 Iy X G L L
a+b X—a x-b

oo o Ul o of , show that (b - c)x
b+c-a c+a-b a+b-c

+(c-a)y + (@-b)z=0. 8
et . LV —= | =ufgn B (b - o)

b+c-a Lc+a—b:a+b—c
+(c-ay+@-bz=0.

61151-8250-(P-7)(Q-9)(22) (6)

(@)

(b)

Shanta has some money with her. She gave 50% of
it to ‘Deepak and 30% to Bhupendra. 60% of the
remaining was donated to a school. If Rs. 8,040 are
still left with her, find the original amount of
money she had. 8

T F 9H B W ¥ I @ 50% A @ ok
30% Uz B Ram W & 60% F wg@ B A I
far am aR 3e% wm o & 8,040 6o 72 T @
IS T g R Reee f ?

By selling a plot of land for Rs. 90,000 a person
loses 10%. At what price should the plot be sold so
as to gain 15% ? 8

T AR 90,000 Fo 7 4 T & @ JWE 10%
B E e ¥ 15% B AW o F B R e 3
e @wa T a1 ST =R ?

61151-9250-(P-7)(Q-9)(22) {79
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w.e.f. Academic Session 2014-15 .
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Examination - July, 2022 |
FINANCIAL ACCOUNTING-II |
Paper: 2.01 |

Time : Three hours | [ Maximum Marks : 80

Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.

i & 3T 33 4 95 wherd 7w g ot & s T g |
g T8 wT-uF Fer & T F AT 3@ gaw 7w

R 78 g ard

Note : Attempt five questions in all, selecting one question

from each Unit. Question No. 1 is compulsory. All
questions carry equal marks.

5% ¢ 9 g g, &9 O e 3 o
A 97 o 1 a1 Wt vl B oim wHE

61150-8200-(P-15)(Q-9)(22) P



1. (a) Calculate cash price of the asset in the SO (c) Write any three distinctions between departmental

case : accounts and branch accounts.

Frfofea Rafy & awfyr & 792 9= 5 Fr #fw
& T @t o e @t # oy oy R

(i) Cash down payment — 25%
(d) What is an Independent Branch ?
THE YA - 25%

o= e R Fed 7
(ii) Three annual instalments of ¥ 3,40,000:

¥ 3,10,000 and ¥ 2,80,000 commencing from
the end of the first year.

) ) (e) Clarify the difference between dissolution of a2
firm and dissolution of partnership.
H o B I/ gE det die affe fea
< 3,40,000; % 3,10,000 & ¥ 2,80,000 | AL B ¥ 9w
i
(iii) Rate of interest to be charged by the vendor —

12% p.a. (f) What is Purchase Consideration ? What entry is
made for it in the books of partnership firm when
Rz 20 &t I A = AR 12% A

its business is sold to a company ?

(b) Give the characteristics of instalment payment |
BT A R ? W v @, e @ Ry

T T WA B g F rad) e @
e g vafy A Rdyant fafeg LT

system.

61150-8200-(P-15)(@-9)(22)  (2) 61150-8200-(P-15)(@-9)(22)  (3) B.T O




(8) What is Memorandum Joint Venture Account ?
ETOTY HgFT AEE @I e Fed § 7

(h) What is the procedure of recoupment  of

shortworking ?

agEd R A B B o By X

UNIT - |

s - |

2. X Transport Ltd. purchased from Manish Motors 3

tempos costing ¥ 50,000 each on hire-purchase basis on
1.1.2003, 20% of the cost was to be paid down and
remainder in 3 equal instalments payable on
31122003, 31.12.2004 and 31.12.2005 together with
interest @ 9% p.a., X transport Ltd. writes off
depreciation @ 20% p.a. on reducing balance. It paid
the instalment due at the end of first year but could not
pay the next on 31.12.2004. Manish Motors agreed to
leave one tempo with the purchaser adjusting the

61150-8200-(P-15)(Q-9)(22)  (4)

value of other 2 tempos against the amount due on
that date. The tempos recovered were revalued on the

basis of 30% depreciation annually.

M/s Manish Motors incur ¥ 5,000 on repairs of tempos
repossessed and resold them at a profit of 5% on total

cost.

Write up necessary accounts in the books of both

parties for all the three years.

1 5998, 2003 # X Figae fio ¥ wiy ded & 3 3
X 50,000 ST TG & G A H 20% T FRA A
q 71 A A 0§ A et § 9% aifes @t i
TEE U AW & B 31.12.2003, 31.12.2004 @
31.12.2005 # 39 #fi X gEde 20% affs & HAFE BE
fafr & & @ 1 5 oW ad 3 o ox 3 e @
AN HT A Wy ol Reea SiifF 31.12.2004 3 2 o,
H LI T FFD Y Ared 2 39 @ g 39 Ry
T FEING #39 gU O 2 FaT B U et I R @
T A g H G 30% AMH BW T geditn o

Rl

61150-8200-(P-15)(Q-9)(22)  (5) P.T.0.




mﬁzﬂ%mﬁamﬁaﬁWW?smoaﬁm
a%@rawm%mmwméaaﬁml

@:ﬁwﬁaﬁgﬁlﬁﬁmﬁ%aﬁmeﬁml

. Write notes on :

F=1 @ Rt fifge
(@) Maintenance Suspense A /¢
AU §oE @

(b) Interest Suspense A /c under Instalment Payment
System

Roa T ey § = w2 @
(c) Hire Purchase Trading A /c
ot & s
(d) Transfer of Asset to Third Party

TR # R TEET @ i

61150-8200—{P-15)(0—9)(22) (6)

UNIT - 11

8 -1l

4. Mahadev Sons, New Delhi has a branch at Mumbai.

All goods required for sale at Mumbai are supplied at
cost plus 20% and all cash received at branch is banked
daily in head office account opened in a Bank at
Mumbai. From the following particulars, give the
Branch Account, Branch Debtor's Account, Branch

Trading and Profit and Loss Account :

wﬁaw,ﬂgﬁﬁﬁa%ﬁﬁf@w%lmﬁw
mamaﬁzo%aﬂswﬁmw%mw#m
mﬂw%ﬁﬁg@m%hmﬂw
W@ﬁ%lﬁ‘ﬁmﬁﬁﬁwﬁ,wm,wm
@WWW@WWWW

4 4
Stock 1.4.2012 18,000/ Provision' for bad &| 2,250
(TEﬁIﬂT) doubtful debts
: (0 @ sy w3
R srmirer)
6115&8200«(13-15)(0-9)(22} (7) P. T8,




7. A, B, C and D sharing profits in the ratio of 4:3:2:1
decided to dissolve their firm on 31st March, 2013

when their balance sheet was as under :

ABCIRDAMF4:3:2:1F qa ¥ av died &,
ot i # 31 "1, 2013 F TG FA w Al o ¥
waie I Rafy REwr = g ®

Liabilities < Assets 4
(arfrea) (vrafera)

Creditors 15,700 | Bank 535
(SFem). (35)
Employee's Provident | 6,300|Debtors 15,850
Fund

(ew)
(et s o)
Capital Accounts : Stock 25,200
(%t @) - (Refoan)
61150-8200-(P-15)(Q-9)(22) (10)

3
A 40,000
B 20,000

61150-8200-(P-15)(Q-9)(22)

C's Capital A /¢

(C%Tiiﬁ’!@m-{)

D's Capital A /¢

(11)




(i) One of the creditors took some of the patents
whose book value was ¥ 5,000 at a valuation of
7 3,200. Balance of the creditors were paid at a

discount of T 400.

o avE 3 g8 Yo Fee gEE g X 5,000
7 3200 Preie T W A REn d9 AL B T 400
Be I Y Y fer

(ii) There was a joint life policy of X 20,000 (not
mentioned in the balance sheet) and this was

surrendered for T 4,500.

?20,oooaﬁﬁgﬁaﬂa3mﬁﬁﬁeﬁ(ﬁuﬁhawﬁqﬁ
R@l%ﬂ%)a?ﬂugu,sooﬁmé’rnéu

(iii) The remaining assets were realized at the

following values.
Jy gt @ e AR o g

Debtors ¥ 10,800; Stock X 15,600; ¥ Plant &
Machinery ¥ 12,000; Patents at 60% of their book
value. Expenses of realization amounted to X

1,500.

61150-8200-(P-15)(Q-9)(22) (12)

¥ T 10,800; W& T 15600; Wie T AL
T 12,000, R=TE JKFH TH F 60% FAG =4
1,500 gQI

D became insolvent and a dividend of 25 paise in
a rupee was received in respect of the firm's claim

against his estate.
Prepare necessary ledger accounts.

D P & T O I e A T F T D
T T 17 Q25 W@ qiw & W gl

HETE @ qaTC Hol

UNIT = IV

- IV

8. What is Joint Venture ? How are Joint Venture

Accounts maintained ?

ﬁgﬁmw%?qﬁwaﬁ%&t@aﬁ%?
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9. On 1st April, 2001, A Ltd. obtained a mining lease Dead rent per annum
from B Ltd. and from that date they sub-leased a part 25 = sie) ;
of the mine to C Ltd. Show ledger accounts in the
books of A Ltd. from the following details : Shortwise s i bk
A fio 3 1 3, 2001 # B ffo & @Ml & 0 W R s it v
T S R & @ @ o e C o @ Swwe w2 (L! - e

fam Frefefed gearell # wemar & A Rio @ ge 7 In case of strike, royalty earned will discharge all
liabilities for that year. Accounts are closed on 31st

EES @A F913Y -
Year ended on Lonse - Tons | ot Tans . O g S et e
(veer - &) (a9geer - =) o & ad # R Taed i @ ol SEd g @
31.3.2002 1,000 1,000 sRft o ¢ e T@ om e sRed 31 A A
31.3.2003 1,700 1,500 i o
31.3.2004 1,700 3200
31.3.2005 6,400 1,200 due to strike
(s A o Q)
31.3.2006 5,000 4,000
Royalty per ton 8 712
(v & )
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